

				Demographics f	or All First-Year	Students				
					No. Students (%	6)			М	eans
	N	Female	African American	Latinx	25 or older	First Generation	On Campus Housing	21st Century Scholar	High School GPA	Best SAT Score
Direct/Dual	1,735	986 (56.8%)	150 (8.6%)	254 (14.6%)	3 (0.2%)	412 (23.7%)	726 (41.8%)	267 (15.4%)	3.67	1196
University College	1,761	1,167 (66.3%)	203 (11.5%)	311 (17.7%)	20 (1.1%)	627 (35.6%)	575 (32.7%)	385 (21.9%)	3.37	1088
Total	3,496	2,153 (61.6%)	353 (10.1%)	565 (16.2%)	23 (0.7%)	1,039 (29.7%)	1,301 (37.2%)	652 (18.6%)	3.52	1151

				2 on ogi upn	ics for First-Yeal No. Students				М	eans
	N	Female	African American	Latinx	25 or older	First Generation	On Campus Housing	21st Century Scholar	High School GPA	Best SAT Score
University College	160	95 (59.4%)	7 (4.4%)	32 (20.0%)	1 (0.6%)	56 (35.0%)	47 (29.4%)	31 (19.4%)	3.42	1159
Total	160	95 (59.4%)	7 (4.4%)	32 (20.0%)	1 (0.6%)	56 (35.0%)	47 (29.4%)	31 (19.4%)	3.42	1159

## Demographics for All External and Intercampus Transfer Students

					No. Students (%)				Means		
	N	Female	African American	Latinx	25 or older	First Generation	On Campus Housing	21st Century Scholar	Transfer hours first fall*	Transfer GPA first fall*	
Direct/Dual	793	492 (62.0%)	99 (12.5%)	77 (9.7%)	231 (29.1%)	243 (30.6%)	59 (7.4%)	44 (5.5%)	51.34	3.15	
University College	702	417 (59.4%)	94 (13.4%)	73 (10.4%)	140 (19.9%)	244 (34.8%)	55 (7.8%)	60 (8.5%)	36.02	2.81	
Total	1,495	909 (60.8%)	193 (12.9%)	150 (10.0%)	371 (24.8%)	487 (32.6%)	114 (7.6%)	104 (7.0%)	44.14	2.99	

\*Reflects transfer hours at census on August 30, 2021. Additional transfer hours may have been processed since.

## University College Demographics for All External and Intercampus Transfer Students

					No. Students (%	b)			Меа	ans
	N	Female	African American	Latinx	25 or older	First Generation	On Campus Housing	21st Century Scholar	Transfer hours first fall*	Transfer GPA first fall*
University College	36	18 (50.0%)	2 (5.6%)	8 (22.2%)	5 (13.9%)	9 (25.0%)	1 (2.8%)	4 (11.1%)	33.67	2.56
Total	36	18 (50.0%)	2 (5.6%)	8 (22.2%)	5 (13.9%)	9 (25.0%)	1 (2.8%)	4 (11.1%)	33.67	2.56

\*Reflects transfer hours at census on August 30, 2021. Additional transfer hours may have been processed since.

## Institutional Research and Decision Support (IRDS)



	Demogra	aphics for All E	University College xternal and Intercan	npus Transfer :	Students			
	N	Female	African American	Latinx	25 or older	First Generation	On Campus Housing	21st Century Scholar
Herron School of Art and Design	3	2 (66.7%)	2 (66.7%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Kelley School of Business	162	57 (35.2%)	16 (9.9%)	13 (8.0%)	21 (13.0%)	60 (37.0%)	6 (3.7%)	13 (8.0%)
ONeill School of Public and Environmental Affairs	10	5 (50.0%)	2 (20.0%)	3 (30.0%)	0 (0.0%)	2 (20.0%)	1 (10.0%)	1 (10.0%)
School of Dentistry	30	26 (86.7%)	1 (3.3%)	3 (10.0%)	5 (16.7%)	14 (46.7%)	0 (0.0%)	4 (13.3%)
School of Education	26	22 (84.6%)	4 (15.4%)	2 (7.7%)	0 (0.0%)	3 (11.5%)	2 (7.7%)	2 (7.7%)
School of Engineering and Technology	54	14 (25.9%)	10 (18.5%)	5 (9.3%)	9 (16.7%)	15 (27.8%)	8 (14.8%)	6 (11.1%)
School of Health and Human Sciences	45	21 (46.7%)	8 (17.8%)	4 (8.9%)	9 (20.0%)	12 (26.7%)	8 (17.8%)	0 (0.0%)
School of Informatics and Computing	13	2 (15.4%)	2 (15.4%)	1 (7.7%)	4 (30.8%)	3 (23.1%)	0 (0.0%)	1 (7.7%)
School of Liberal Arts	16	8 (50.0%)	2 (12.5%)	2 (12.5%)	8 (50.0%)	4 (25.0%)	3 (18.8%)	1 (6.3%)
School of Medicine	38	31 (81.6%)	5 (13.2%)	3 (7.9%)	9 (23.7%)	9 (23.7%)	7 (18.4%)	5 (13.2%)
School of Nursing	56	51 (91.1%)	11 (19.6%)	2 (3.6%)	11 (19.6%)	22 (39.3%)	7 (12.5%)	8 (14.3%)
School of Public Health	6	4 (66.7%)	3 (50.0%)	0 (0.0%)	2 (33.3%)	2 (33.3%)	0 (0.0%)	0 (0.0%)
School of Science	100	66 (66.0%)	13 (13.0%)	12 (12.0%)	17 (17.0%)	39 (39.0%)	11 (11.0%)	6 (6.0%)
School of Social Work	27	24 (88.9%)	9 (33.3%)	3 (11.1%)	12 (44.4%)	13 (48.1%)	1 (3.7%)	4 (14.8%)
University College	36	18 (50.0%)	2 (5.6%)	8 (22.2%)	5 (13.9%)	9 (25.0%)	1 (2.8%)	4 (11.1%)
Total	622	351 (56.4%)	90 (14.5%)	61 (9.8%)	113 (18.2%)	207 (33.3%)	55 (8.8%)	55 (8.8%)

\*Reflects transfer hours at census on August 30, 2021. Additional transfer hours may have been processed since.

		D	Demographics for All	University C External and I	•	nsfer Students				
			<b>3 1</b>		No. Students (%				Меа	ans
	N	Female	African American	Latinx	25 or older	First Generation	On Campus Housing	21st Century Scholar	Transfer hours first fall*	Transfer GPA first fall*
Exploratory Baccalaureate	33	17 (51.5%)	2 (6.1%)	7 (21.2%)	4 (12.1%)	8 (24.2%)	1 (3.0%)	4 (12.1%)	34.64	2.58
Medical Imaging Tech BS-Online	1	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	45.00	0
Pre Accounting BSB	24	10 (41.7%)	4 (16.7%)	2 (8.3%)	6 (25.0%)	14 (58.3%)	1 (4.2%)	5 (20.8%)	43.67	3.07
Pre Am Sign Lg/Engl Interp BS	2	1 (50.0%)	1 (50.0%)	0 (0.0%)	1 (50.0%)	1 (50.0%)	0 (0.0%)	1 (50.0%)	45.50	2.49
Pre App Theatre, Film, TV BA	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	39.00	3.53
Pre Applied Computer Sci BA PU	2	0 (0.0%)	0 (0.0%)	1 (50.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	49.00	3.29
Pre Artificial Intelligence BS	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	7.00	0.89
Pre Biology BA PU	5	2 (40.0%)	1 (20.0%)	2 (40.0%)	3 (60.0%)	4 (80.0%)	0 (0.0%)	1 (20.0%)	36.80	2.62
Pre Biology BS PU	19	15 (78.9%)	1 (5.3%)	4 (21.1%)	3 (15.8%)	7 (36.8%)	2 (10.5%)	2 (10.5%)	33.39	2.94
Pre Biology BS/MPH	1	1 (100.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0.00	4.00
Pre Biomedical Engr BSBME	3	2 (66.7%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	22.67	2.78
Pre Business BSB	73	24 (32.9%)	9 (12.3%)	4 (5.5%)	10 (13.7%)	27 (37.0%)	1 (1.4%)	4 (5.5%)	37.66	2.97
Pre Chemistry A.C.S. Cert BSCH	4	2 (50.0%)	0 (0.0%)	1 (25.0%)	2 (50.0%)	3 (75.0%)	0 (0.0%)	1 (25.0%)	34.00	3.05

Pre Chemistry BS PU Pre Clinical Lab Science BS Pre Communication Studies BA Pre Computer & Info Science BS Pre Computer & Info Tech BS Pre Computer Engineering BSCE Pre Computer Engr Tech BS Pre Computer Graphics Tech BS	1 2	1 (100.0%) 2 (100.0%)	1 (100.0%)	a (a aa()						
Pre Communication Studies BA Pre Computer & Info Science BS Pre Computer & Info Tech BS Pre Computer Engineering BSCE Pre Computer Engr Tech BS		2 (100 09/)		0 (0.0%)	0 (0.0%)	1 (100.0%)	1 (100.0%)	0 (0.0%)	50.00	0
Pre Computer & Info Science BS Pre Computer & Info Tech BS Pre Computer Engineering BSCE Pre Computer Engr Tech BS	•	2 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	2 (100.0%)	0 (0.0%)	0 (0.0%)	23.50	3.26
Pre Computer & Info Tech BS Pre Computer Engineering BSCE Pre Computer Engr Tech BS	3	1 (33.3%)	0 (0.0%)	0 (0.0%)	3 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	33.00	2.24
Pre Computer Engineering BSCE Pre Computer Engr Tech BS	9	1 (11.1%)	2 (22.2%)	0 (0.0%)	2 (22.2%)	4 (44.4%)	1 (11.1%)	0 (0.0%)	48.94	3.20
Pre Computer Engr Tech BS	5	2 (40.0%)	3 (60.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	39.80	2.87
	2	0 (0.0%)	0 (0.0%)	1 (50.0%)	0 (0.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)	27.50	2.84
Pre Computer Graphics Tech BS	3	0 (0.0%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	2 (66.7%)	1 (33.3%)	54.67	2.76
	1	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	29.00	2.92
Pre Computer Science BS/MS	2	1 (50.0%)	0 (0.0%)	0 (0.0%)	1 (50.0%)	2 (100.0%)	0 (0.0%)	0 (0.0%)	63.00	2.71
Pre Construction Mgmt BS	3	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	15.33	2.13
Pre Criminal Justice BS	8	5 (62.5%)	2 (25.0%)	3 (37.5%)	0 (0.0%)	1 (12.5%)	1 (12.5%)	1 (12.5%)	25.06	3.00
Pre Cybersecurity BS	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	63.00	2.33
Pre Cytotechnology BS	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	115.00	3.54
Pre Data Science BS-Online	1	0 (0.0%)	0 (0.0%)	1 (100.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	65.00	2.13
Pre Dental Assisting CERT	2	1 (50.0%)	0 (0.0%)	0 (0.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	23.50	2.81
Pre Dental Hygiene BS	23	20 (87.0%)	1 (4.3%)	0 (0.0%)	3 (13.0%)	10 (43.5%)	0 (0.0%)	2 (8.7%)	32.70	3.08
Pre Early Childhood Educ BSED	3	3 (100.0%)	2 (66.7%)	0 (0.0%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	24.00	1.36
Pre Electrical Engr BSEE	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	47.00	0
Pre Elementary Education BSED	10	10 (100.0%)	2 (20.0%)	2 (20.0%)	0 (0.0%)	1 (10.0%)	1 (10.0%)	1 (10.0%)	26.30	2.23
Pre Energy Engineering BS	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	13.00	1.81
Pre English BA	2	2 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	2 (100.0%)	0 (0.0%)	9.00	1.40
Pre English Education BSED	6	4 (66.7%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (16.7%)	0 (0.0%)	0 (0.0%)	38.67	2.56
Pre Environmental Sci BS	4	2 (50.0%)	1 (25.0%)	0 (0.0%)	0 (0.0%)	1 (25.0%)	1 (25.0%)	0 (0.0%)	27.00	3.12
Pre Events Mgmt CRT-Online	1	1 (100.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	60.00	2.66
Pre Exercise Science BSK	14	8 (57.1%)	1 (7.1%)	1 (7.1%)	1 (7.1%)	1 (7.1%)	3 (21.4%)	0 (0.0%)	41.50	2.73
Pre Finance BSB	21	6 (28.6%)	0 (0.0%)	4 (19.0%)	3 (14.3%)	6 (28.6%)	0 (0.0%)	3 (14.3%)	35.98	3.07
Pre Fine Arts-Herron BFA	1	1 (100.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	20.00	2.34
Pre Forensic & Invgt Sci BS PU	12	9 (75.0%)	1 (8.3%)	1 (8.3%)	0 (0.0%)	4 (33.3%)	2 (16.7%)	0 (0.0%)	29.79	3.01
Pre Ftns Mgt & Prsnl Tr BSK	3	1 (33.3%)	2 (66.7%)	1 (33.3%)	1 (33.3%)	3 (100.0%)	1 (33.3%)	0 (0.0%)	29.33	3.14
Pre Geology BS	2	2 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (50.0%)	0 (0.0%)	6.00	3.05
Pre Health Info Mgmt BS-Online	1	1 (100.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0.00	0
Pre Health Sciences BS	7	5 (71.4%)	2 (28.6%)	1 (14.3%)	3 (42.9%)	2 (28.6%)	2 (28.6%)	0 (0.0%)	57.14	2.64
Pre Health Sciences BS-Online	3	1 (33.3%)	1 (33.3%)	0 (0.0%)	2 (66.7%)	2 (66.7%)	0 (0.0%)	0 (0.0%)	24.33	1.98
Pre Health Services Mgmt BS	6	4 (66.7%)	3 (50.0%)	0 (0.0%)	2 (33.3%)	2 (33.3%)	0 (0.0%)	0 (0.0%)	52.67	2.48
Pre History BA-Online	1	1 (100.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	10.00	0
Pre Hithcare Engr Tech Mgmt AS	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	6.00	0.93
Pre Human Resource Mgmt BSB	3	0 (0.0%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	3 (100.0%)	0 (0.0%)	1 (33.3%)	33.33	2.92
Pre Informatics BS	3	0 (0.0%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (33.3%)	31.00	2.22
Pre Informatics BS-Online	2	0 (0.0%)	0 (0.0%)	1 (50.0%)	1 (50.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)	60.50	1.81
Pre Interior Design Tech BS	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	94.00	0
Pre Law in Liberal Arts BA	2	2 (100.0%)	1 (50.0%)	1 (50.0%)	2 (100.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)	14.50	3.05
Pre Management BSB	11	4 (36.4%)	1 (9.1%)	1 (9.1%)	1 (9.1%)	2 (18.2%)	0 (0.0%)	0 (0.0%)	51.91	3.35

Pre Management SPEA BSPA	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	31.00	3.64
Pre Marketing BSB	26	12 (46.2%)	1 (3.8%)	2 (7.7%)	1 (3.8%)	6 (23.1%)	3 (11.5%)	0 (0.0%)	52.44	3.01
Pre Mathematics BS PU	1	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	60.00	2.23
Pre Mech Engr Tech BS	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	49.00	0
Pre Mechanical Engr BSME	9	2 (22.2%)	1 (11.1%)	1 (11.1%)	1 (11.1%)	3 (33.3%)	2 (22.2%)	3 (33.3%)	38.11	3.01
Pre Media Arts & Science BS	7	1 (14.3%)	1 (14.3%)	0 (0.0%)	2 (28.6%)	2 (28.6%)	0 (0.0%)	0 (0.0%)	32.57	1.64
Pre Medical Imaging Tech BS	18	17 (94.4%)	1 (5.6%)	2 (11.1%)	5 (27.8%)	5 (27.8%)	2 (11.1%)	3 (16.7%)	37.25	2.71
Pre Motorsports Engineering BS	4	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (25.0%)	0 (0.0%)	2 (50.0%)	0 (0.0%)	35.25	3.17
Pre Music Technology BS	3	0 (0.0%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	37.33	2.49
Pre Music Therapy BS	3	2 (66.7%)	1 (33.3%)	0 (0.0%)	2 (66.7%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	25.00	3.60
Pre Neuroscience BS PU	2	2 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)	33.50	3.63
Pre Nursing BSN	55	50 (90.9%)	10 (18.2%)	2 (3.6%)	10 (18.2%)	21 (38.2%)	7 (12.7%)	8 (14.5%)	25.71	2.80
Pre Nursing RN-BSN-Online,TSAP	1	1 (100.0%)	1 (100.0%)	0 (0.0%)	1 (100.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	65.00	2.87
Pre Org Leadership BS	12	6 (50.0%)	4 (33.3%)	0 (0.0%)	4 (33.3%)	4 (33.3%)	0 (0.0%)	2 (16.7%)	53.17	2.7
Pre Philosophy BA	2	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)	3.00	0.43
Pre Phys Ed & Hith Ed/Tch BSK	3	1 (33.3%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	48.00	2.68
Pre Phys/ElecEng BS Dual Degr	1	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	56.00	2.7
Pre Physics BS PU	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	77.00	2.28
Pre Political Science BA	3	1 (33.3%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	32.67	2.01
Pre Psychology BA PU	17	12 (70.6%)	2 (11.8%)	1 (5.9%)	2 (11.8%)	3 (17.6%)	2 (11.8%)	2 (11.8%)	26.88	2.86
Pre Psychology BS PU	13	11 (84.6%)	3 (23.1%)	2 (15.4%)	1 (7.7%)	4 (30.8%)	1 (7.7%)	0 (0.0%)	27.52	2.65
Pre Pub HIth Dent Hygiene BS	5	5 (100.0%)	0 (0.0%)	3 (60.0%)	1 (20.0%)	4 (80.0%)	0 (0.0%)	2 (40.0%)	36.60	2.4
Pre Radiation Therapy BS	3	2 (66.7%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	27.67	2.7
Pre Radiography AS	11	8 (72.7%)	2 (18.2%)	1 (9.1%)	2 (18.2%)	1 (9.1%)	4 (36.4%)	2 (18.2%)	24.45	2.96
Pre Respiratory Therapy BS	2	1 (50.0%)	1 (50.0%)	0 (0.0%)	1 (50.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)	31.00	3.04
Pre Social Studies Educ BSED	7	5 (71.4%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (14.3%)	0 (0.0%)	22.43	2.50
Pre Social Work BSW	27	24 (88.9%)	9 (33.3%)	3 (11.1%)	12 (44.4%)	13 (48.1%)	1 (3.7%)	4 (14.8%)	55.02	2.89
Pre Sports Management BSTESM	11	2 (18.2%)	1 (9.1%)	1 (9.1%)	0 (0.0%)	3 (27.3%)	1 (9.1%)	0 (0.0%)	32.73	2.64
Pre Supply Chain Managemnt BSB	4	1 (25.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	2 (50.0%)	1 (25.0%)	0 (0.0%)	38.75	3.16
Pre Sustnbl Mgmt & Policy BSPA	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	12.00	0
Pre Tour/Conv/Event Mgt BSTESM	3	2 (66.7%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	34.67	3.0
Pre Visual Comm Design BFA	2	1 (50.0%)	1 (50.0%)	0 (0.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	27.50	2.14
Visiting Intercampus Transfer	2	1 (50.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)	2.00	0
Total	622	351 (56.4%)	90 (14.5%)	61 (9.8%)	113 (18.2%)	207 (33.3%)	55 (8.8%)	55 (8.8%)	36.47	2.80

\*Reflects transfer hours at census on August 30, 2021. Additional transfer hours may have been processed since.